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Name Date

Solve.
1. 3)21 3)22 3)23 3)24 3)25
2.7)21 7)22 7)23 7)24 7)25

3. Describe how the repeating pattern in row 1 is different
from the pattern in row 2. Explain why.

Use any method to solve.

4. 9)2,359 5. 2)5,389 6. 4)1,648

7. 5)1,456 8. 8)2,506 9. 6)8,473

Solve. Show your work.

10. Mr. James arranged his collection of 861 baseball
cards in 7 equal rows. How many cards were in
each row?

11. A shoe company has 9,728 pairs of shoes to be divided
equally among 8 stores. How many pairs of shoes will
each store get?
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